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BMYREREDRE
525N -RIEEROIC, MRERE1DT DML,
PEORRICFBELEBONSLOERRALNELT
BIRRL, /SN FIREEFREIHRC

YA XD EEEBDICET S5 HBHET(NET 5.

HAXNOEBEDOERERESHKLT, Y1XEm (r<1)®

MREICHE/NTEDEDLET S,

EREROBKRABEE OB TTESET 5L, #ilbxX
T(n) =T(rn) +cn

%155.

COFEXERDESICEITS. F=fL, rn=1EL, T()=dET %.

T(n) =T(rn) + cn =T(r2n) + crn + cn =T(r®n) +cr2n+ crn +cn
=T(rkn) +cr¢In+ - - -+cr2n+ crn + cn =d +cn/(1-r).
&2T, T(n) = 0(n)&iY, RERETHHENDING.

3/42

Principle of Prune-and-Search

Solve a given problem by removing as many redundant elements

as possible by examining every element and solving the reduced
problem recursively.

T(n): time to solve a problem of size n.
Assume that examination of every element of a problem of size n
reduces the problem size into rn (r<1).

If we can examine all the elements in cn time, then we have the
recurrence equation

T(n) =T(rn) +cn.

The equation can be solved as follows: Here assume that r\n =1 and

T(1)=d, a constant. Then, we have

T(n) =T(rn) + cn =T(r2n) + crn + cn =T(r3n) +cr2n+ crn +cn
=T(rkn) +crkin+ - = =+cr2n+crn +cn =d +cn/(1-r).

Thus, we have T(n) = O(n), i.e., it runs in linear time. 4142

EE:HEOY A X(HH T SEMTEE —E D LLErCHED
YAREMBNTBIENTEDEE, CORRBIFRNMYIEREIC
FYBRB M TRSENTES.

EREREBERT 50Z0(n)EERM TIEL4<O(n log n)ER M M5
HEOHERE
T(n) =T(rn) +cn log n
L15%. ThEfie,
T(n) =d+cn log n/(1-r)
L5 BHDT, RIEYO(n log n)B5fE THRIEA R ITS.

HERHE: T, BAEROBKIZOMERNNSEEE
ESm?
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Theorem: If we can reduce the problem size at some constant
rate r for any problem instance, this problem can be solved in
linear time based on a Prune-and-Search algorithm.

If it takes O(n log n) time to examine all the elements instead of
O(n) time, then the recurrence equation becomes
T(n) =T(rn) + cn log n.
A solution to this equation is
T(n) =d+cn log n/(1-r),
which implies that the problem is solved in O(n log n) time.

Exercise: What about the running time if it takes O(n?) time to
investigate all the elements?
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‘ Problems solved by Prune-and-Search

[RMYBFRE TR B8
— D> DRI LRI~ F= R AERIR ORI

One of them is the median finding problem studied before.

FILT) X LPI-A2: Algorithm P9-A2:
(OnEOT—42EBEBT OO IL—TFIZHEIL, BT IL—T (1)decompose n data into groups each containing at most 15 data
CEICISEADT—2DhREZERDS. and find the median in each group.
Qo L3IZLTELNIzVISEO R RIEIC, ZOHEEBEIR (2)Find the median M of these n/15 medians obtained recursively.
RICEAL, hREDOHREMERDS. (3)Decompose the n data with respect to M:
GEDT—2EMIZELTHE: S=asetofdata<M,
S=M&YPENTF—EDESE, L = a set of data > M,
L=M&YREVNT—EDES, E = a set of data = M.
E=MIZELLWT—20D&E, (4) if K=|L|, find the k-th largest element in L recursively.
B KE|LIDEE, LOFTKEB ICKELEREZERMITKRDS. (5) If k>|L|+|E|, find the (k-|L|-1)-th largest element in S recursively.

(5) k>|LHE|D EE, SOFRTK|L-1EB ICKELEREHRMIC (6) Otherwise return M as a solution.
RHd

6) ThESDEE, MARDBETHD.
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ZOT7ILTYXLTIE, This algorithm

OEAEZEISET OO (MS)EDT IL—FIZ5 11,
QRQENThOTIL—THNTY—FLI-#,
QREITIN—TDhREEEDHT, TOFRIEERD,
DZDHREICEALTEHESEIL, RHDKERIC
REWEENEDTIL—TIZBTEHERD,
B)ZDTIL—TFIZFITIYX LEBRMAISERLT-.

(1)decomposes the whole into (n/15) groups of size at most 15,

(2)sorts the elements in each group,

(3)finds the median of the medians of all groups,

(4)decomposes the whole by the median to find to which group
the desired k-th largest element belongs to, and

(5)applies the algorithm recursively to the group.

(1) DALER [ TE BBE R (AF IS HL7ELY)
(2)DALIR(E42 x (n/15)IZLL 513 B B RS
() DA (ET(n/15) RS,

(1) is done in constant time (nothing in particular).

(2) is done in time proportional to 42 X (n/15).

(3) is done in T(n/15) time.

(45)DUNEI(E, BART((LU/15)n)EERE. HEHD, HBIIZ&>T (4,5) are done in at most T((11/15)n) time, because the size of each
ELBEADHAXENVThEE L (LU/15)NEDS. set resulting by the decomposition is at most (11/15)n.

e The recurrence equation is given by
T(n) = 42(n/15) + T(n/15) + n + T((11/15)n) T(n) = 42(n/15) + T(n/15) + n + T((11/15)n).

E15B. IhEMCE, Solving this, we have
T(n) <19n. 9142 T(n) =19n. 10/42

Prune-and-Search using two parameters
+Time to examine all the elements is linear in the problem size.
“BBRD#E, Y1 XanlTiE/hShi-fEREE, S« XbnlHE/h « After the examination, we solve the original problem by solving
Sh-FBEEBNUICHECLICKY, TOMBEERRTS. the reduced problems of sizes an and bn recursively.
~EER & - The recurrence equation is
T(n) = T(an) + T(bn) +cn. T(n) = T(an) + T(bn) + cn.
O<a+b <1, 0<a<l, O<b<1lD&E, LERDHERXDAEX If 0<a+b < 1, 0<a<1, 0<b<1, the solution to the above equation
T(n) = O(n) is given by
E15%. T(n) = O(n).

22D /G A —FTHERESNOBM YRR
BHEREB KT DEMEMED Y 1 X

EEME LREOBREEAHE L ‘ ‘ Exercise: Prove the above observation.
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‘Z—dimensional Linear Program ‘

2E s At ERIE

FIEEP15: CE R EERE)

ZHx, yIBI S BOBMBARFLZT N THIZT (X, y)D
HT, B0 BB Kox+dyDEE &/ (FIFRK)ITT S
HOERDE.

— ka7

Problem P15: (2-dimensional Linear Program)

Find (x, y) to minimize (or maximize) a linear objective
function cx+dy among those satisfy all the linear inequalities
on variables x and y.

Y=, Xy + CyXp, X=X, EBKE, General form: If we set y=C,X; + C,Xp, X=Xy,

B #IE8%k : c,x, + c,X, —min

nED L, d,/c,0

Objective: ¢,X; + C,X, —~min
subject to : dy;x, +d;x, e,

n inequalities are classified into
lower constraints

RIS - dypx +dpx, ey, HEIZKY
dyrXy + Xy Z e, y=ax+b;,
""" - DO TAFHXE
dnlxl + anXZ =€, yéaix+bi,
DROLAFFIKIZHEE
TES.
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Uy %y + UypX, 26y, yZax+b;,
------ N and upper constraints
duXy + dppX, =, y=ax+h,

depending on signs of d;,/c,.
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PlE:

B #IB8% : x, + 2x, —min

HIFIGH: (1) -2x, 2-5, (2) 2%, Z-3, (3)-3x, - 4%, =-14,
(4) X, +4x, 20, (5)2%, + 2X, 23, (6) X, =-2,

(7) %, 2-8.
1 Y=Xg + 2%, X=Xy
B #9RS%:y —min

FHFIEH: (2)y=x-3, (4) y=(1/2)x, (5) y=-x+3,
1)y =x+5, B)Y=-(1/2)x+7, (67") -2=x=8.

Hz2oh=#HKETRNTHE LT REX )OI, yOIED
RINELDERDITHIENFERE.
Rp=(xy)DNT R TOHMXEMH-&E, mpl
EATAHE(feasible) THHEE LY, TD LS RDMEEIFE
%ﬁﬂﬁgﬁﬁmtb\a 15/42

Example:

Objective:x, + 2x, —min

subject to: (1) -2x, -5, (2) 2X, -3, (3)-3x, - 4%, =-14,
(4) X, + 4%, 20, (5)2%, + 2%, 23, (6) X;=-2,
(7) %, Z-8.

1 Y=Xy + 2% X=X
Objective:y —min

subject to: (2)y=x-3, (4) y=(1/2)x, (5) y=-x+3,
(L)y=x+5, (3)Y=-(1/2)x+7, (67") -2=<x=8.

Find a point (x, y) of the smallest y value among all those points
satisfying all the constraints. When a point p=(x,y) satisfies all

the constraints, we say the point p is feasible, and a region
such feasible points is called a feasible region.

of
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B #9RS%:y —min
FHFIEH: (2)y=x-3, (4) y=(1/2)x, (5) y=-x+3,
1)y =x+5, (3)Y=-(1/2)x+7, (67") -2=x=8.

(1)
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Objective:y —min
subject to: (2)y=x-3, (4) y=(1/2)x, (5) y=-x+3,
(L)Y Sx+5, (3)Y=-(U2)x+7, (67) -2<x=8.

)

™ / N @)
e

region

t——the dotted region
is a feasible

An optimal solutj /(3

is a point of the /=
smallest y value i
the feasible region

=

v (5)
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iR RATAAEARLIFIE, (BLEETNIE OB ARERT. |

FEBA: SRATRT RERRIE (LI FI K &M= 3 5RiE
TARMXEE T T,
EAfHA TR R LI,

&2 T, TNHODREDHLBEHALLITHS.

2DDEBDER
g(x): FTARNREHE -THEEOBERERIEH
h(x): EAGIRRXZE B - REOERERTEHK
b,

g(x) = max{ax + b; [i €1, }

h(x) = min{ax + b;|i €1, }
EEHDHEE, RITAIREMRIEFI

F={(x,y)|9(X) =y=h(x) and a=x=b}
ERBTES.
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2T ET A ERE |

B #9BE%:y —min
HIFEH: y=ax+b,i €, (TAHIFX)

y<ax+b;, i€, (LAFIHK)
a =x=bh,

FFL 1]+ 1| <n @l#tES 20E)

7T X LP15-A0: (HEINEAR)

- EARIHXE2DBIL, Th TN O TRET HRITARE
B (MZ AR EBIRMISRSOE, V—IIEI—CF 5
EMET, 22002 AROEERNERDS.
CEHICTARPRKIC OV TERBINA X TRT I REBEEE
KHb.

2DOOERTAREMEH D H BN ERD, TOTERATRLYERZE
MINSNEDERELTRY.

2174,

Lemma: A feasible region forms a convex polygon (if it exists). ‘

Proof: A feasible region is a region satisfying all the constraints
The region satisfying the lower constraints is convex downward.
The region satisfying the upper constraints is convex upward.
Thus, the intersection of these convex regions is also convex.

Definition of two functions
g(x): function representing the boundary of the region satisfying
the lower constraints

h(x): function representing the boundary for the upper constraints
That is, if we define

g(x) = max{axx + b; | i €1, }, and

h(x) = min{fax +b;|i €1, }

then, the feasible region F is expressed by
F={(x,y)|g(x) =y=h(x) and a=x=b}.
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2-dimensional linear program

Objective:y —min
subject to: y=ax + by, i €1, (lower constraints)

y=ax +b;, i €l,(upper constraints)
a =x=b,

Here, | 1;|+|1,] =n (there are at most n constraints.)

Algorithm P15-A0: (divide-and-conquer)

- Decompose the upper constraints into two parts, and find a
feasible region (convex polygon) recursively for each part and
then merge the two convex polygons to have their intersection.
+Similarly, compute a feasible region also for the lower constraints
based on divide-and-conquer method.

-Find the intersection of the two feasible regions and return a
vertex of the smallest y value as a solution.

2142

THFNXDEEE2HEIL, BREICETATRRBARERDS

\ |
l \l
\

\‘ |
| EEOHBRAERDDE, \
| TR S ARORTAI MRS |

|— — — -

EERME: DEHAEOTILTYX LD ERREIXO(N log n) T
HHILETE.
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Divide the set of lower constraints into two and find feasible
regions recursively.

| I
\“ The intersection of the two regions gives us ||
|| the whole feasible region for lower constraints.
- 1

e —— I

Exercise : Prove that the algorithm based on divide-and-conquer runs
in O(n log n) time.

24142




NEDFIHNKNEZSNIEE, METHETAREEEERBIC
R NIEL, O(n log n)EFREMMS.

BREEBMOTILTVALEFDICIE, ETAEESEEEBIC
BRETIC, RERESADPARERDLIENBE.

BANYRERERDEZA.

HFHXEBKLT, —EESOHMKXETRELHHKLE
LCHIRT 5.
BEREEZBTEAIF2DODOEHPRITHISTIEED
XmelLTEALNS.
ERI)Eh)DIEEZFAT 5.

gOQIETIZM, h(lEEI1Ze
~f=f2L, B#g(x)Eh()DEFEERDES5ETSHE, O(nlog n)
B DM TLESCEITEER.
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Given n constraints, if we construct the corresponding feasible
region in an explicit manner, then it takes O(n log n) time.

To obtain a linear-time algorithm, we need to find an optimal
vertex without constructing the whole feasible region explicitly.

Idea based on Prune-and-Search

- By examining the constraints, we remove constraints by a
fixed ratio as redundant constraints.
+ A vertex giving an optimal solution is specified as an
intersection of two lines corresponding to constraints.
- Use properties of the functions g(x) and h(x)

g(x) is convex downward while h(x) is convex upward.
- Note that if we compute the whole of the functions g(x) and
h(x) then it takes O(n log n) time.
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B#g()Eh() DIEEZERAL=BMY R

HEQ)TARHISRET SBgX)IETISM,
(QLAHFIH ST HE%h(x) (F LI,
(BxDIE D EE X [a,b].

XE[ab]NDEEDXERELIZEE,
EfRx=XETARNREDOZ AN P TYEZERAD =
g(x)=max{ax' + b |i €, }
Efx=xE L AFHRED T A D F TYEZR/ND =
h(x) = min{ax' +b; |i €1, }
CIT, g(x) Sh(X) o 1E, x=x1EEITAIEEMEEE R HS.
GER) Lo BEHIEIXO(n)BEFE TEHE e,

—2Z1:9(x)>h(x)D&E

F—RA2:g(x) Sh(x)DEE

WIFNDBEICH, RRE5ALEROBESICLYTRY
X ZEHIRTS. 2112

Prune-and-Search based on the properties of g(x) and h(x)
Properties

(1) The function g(x) for the lower constraints is convex downward,
(2)The function h(x) for the upper constraints is convex upward, and
(3) The range of x is [a,b].

When we specify any X’ in the interval [a,b],
among intersections of the line x=x" with lower constraints find the one of
the largest y value gives g(x”)
g(x')=max{ax' +b;|i €1, }
among intersections of the line x=x" with upper constraints find the one of
the smallest y value gives h(x’)
h(x') = min{ax' +b;|i €1, }
If g(x') =h(x’) then the line x=x* really intersect a feasible region.
(Remark) The above function values care computed in O(n) time.
Case 1:g(x") > h(x’)
Case 2:g(x') =h(x)
In either case, we remove redundant constraints based on the slope of the line

giving the intersection.
28/42

[r—21:9(x) > h(x)DEE]

X=xX'

gX)DIEZXEZ 5HI¥KEy=ax +b; £T5.

r—R11Lg(X)V &5 ZBHPENT-F1 D D5EE
ZDHE, x=XZH T2 Hy=g(x) DM E' (X)HY
g'(x)=a,ELTKRES.

r—21.2: (X &5 ZAHIHNXNEREHHIHE
ENSOBEROTDRARDIEEIX=XDEH
TOMNME
ZNSOBEHOFDOR/PDIEBEAX=XDE
TOMNE X

Case 1:9(x") > h(x")

X=X'

Suppose the constraint y=ax + b; gives the value of g(x’).
Case 1.1: Only one constraint gives g(x')
In this case, the differential value g’(x’) of the function y=g(x)
at x=x" is obtained as g'(x")=a;.
Case 1.2: More than one constraint give the value of g(x’)
The largest slope among those functions is
the differential value at the left of x=x".
The smallest slope among those functions is
the differential value at the right of x=x". X3




RERNELLDARIZHEINEXHY TN
BT BAER f(x) = g(x) - h(x) DEA
g(x): FTARIFX, Tk
h(x): EASIFR, £, -h)IE Iz
f(x)=g(x)-h() (LTI,
(X,Y)DNEITAIRE<=> g(x) =y Sh(x) <=>f(x) = 0

9()
h(x

f(x)

f(x)=0

h(x') S g(x') AN BY 3L D4k 2 KR (HE4R TR )
x=X' 2811 By=g(xX) DIEE T CIEHFRBEBD A MZE
BETHIEIFTELL.

y=fX)DIEZEEZ D&, RBRILIX)DIEIFD T S5 FHEdH D

Want to know in which side an optimal solution lies.
Introducing a new function f(x) = g(x) - h(x).
g(x): lower constraints, convex downward
h(x): upper constraints, convex upward, -h(x) is convex downward
f(x)=g(x)-h(x) is convex downward.
(x,y) is feasible <=>g(x) =y =h(x) <=>f(x) = 0

9(x)
h(x

f(x)

f(x)=0
Various situations (indicated by vertical lines) in h(x') =g(x') holds
We cannot know the direction of an optimal solution using only
slope of y=g(x) at x=x".
Considering the slope of y=f(x), an optimal solution lies in the
direction in which f(x) value decreases. a2

BE#y=F(X) Dx=x1ZH T DIEESZEYT =LY
O(N)BFMET, x=x'(DER)IZH I+ Hy=g(x) DIEZE
O(N)BFMET, x=x'(DEA)IZH1+Dy=h(x)DIEE
NDZEAVTEX (DER)IZEITRY=FX)DIEZERDS.
f(x)>0M X=X DBEIZH T By=f(X) DIEE<0D L&
BERIIx=XDHEIZHB.
f(X)>0M Dx=X D EIZH T Hy=f(X) DIEZ>0D &£F
RERIx=XDEIZHD.
ThUsE
RIETFELAL.

RBEROARANIHIDE, TEAFINKZHIBRTES.
TOHEE?
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Want to know the slope of the function y=f(x) at x=x"
O(n) time suffices to find slopes of y=g(x) at x=x'(and around it).
O(n) time suffices to find slopes of y=h(x) at x=x'(and around it).
Using them, find slopes of y=f(x) at x=x" (and around it).
When f(x”)>0 and the slope of y=f(x) at the right of x=x" < 0
optimal solution lies to the right of x=x".
When f(x”)>0 and the slope of y=f(x) at the left of x=x" >0
optimal solution lies to the left of x=x".
Otherwise,
there is no solution.

Once the direction of an optimal solution is known, we can remove
redundant constraints.
How?
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X=X QEICBERNHDHE

THEIHRKE2 DT ORTIZT 5.
EAFHRE2DFT ORTIZTS.
FIRXNFHEALS, RED—D(ERTIZLAL.

L

REfE RiEfE
TAHRBKORT(ij) yZax+b;, yZax +b;
RREGETS.
E{TAIRefEE (L [a,b] DEFIZFH 1=
(1) x;SanEE,

RBERIEEICHD. £oT, BED/NSVFIFIETE
@) x,ZbDEE,

RERITEICHD. 0T, EEOXRZVFHBMIETE
REnLSDLEE 542

When an optimal solution lies to the right of x=x"

Decompose lower constraints into pairs.
Decompose upper constraints into pairs.
If we have odd number of constraints, then leave the last one.

optimal solution  optimal solution

Pair (i, j) of lower constraints: y=ax + by, yZax + b
Let their intersection be x;;.
Note that the feasible region is in the region [a,b].
(1) Case 1: x;=a,
Optimal solution lies to the right. So, the one of smaller
slope in the pair is redundant.
(2) Case 2 x;=b,
Optimal solution lies to the left. So, the one of larger
slope in the pair is redundant.

(3)Case 3: otherwise. seiz




TR [ab]DREEIZA-TINSLEE
ZDESHERTITONVTR R ERD, ThdoD P R{EX,E
KHB.

X=X 2B LT, g)ENX)DIEZERDHDHE, TERLHEEITS

CDEE, TROWThDDFERERD:

(L) OB IE AR

QX [ERBERTHS.

) RERE Ex=x,NEIZHS.

(4R Ex=x,DEIZHD.

BDBE, T EA X=X, DEIZHDRT()IZDNTIE,
—AOHBXE T RAHIFXEL THIBRATAE.

GDBE, TEI X=X, DEIH BT (i )IZDNTIE,
—AOHFRETRAHKIX EL THIBRATEE.
L1=ho T, MUADFIHXZEHIBRT HIENTES.

SEMYRREICKVIREER TRIBEMRAKRES.
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When the intersection lies in the interval [a,b]:
Find the intersection x;; for each such pair and compute the
median of those intersections.
Do the same calculations as before, say to compute g(x) and h(x)
at x=x,,. Then, we have one of the followings as the result.
(1)This problem has no solution.
(2), is the optimal solution.
(3)An optimal solution lies to the right of x=x,.
(4)An optimal solution lies to the left of x=x,.

For (3), we can remove one of the paired constraints whose
intersection lies to the left of x=x, as a redundant constraint.
For (4), we can remove one of the paired constraints whose
intersection lies to the right of x=x., as a redundant constraint.
Thus, we can remove about % of all constraints.
=> We can find an optimal solution in linear time using Prune-
and-Search. 36142

FE2ZHORMHEREL, SHXOBHENORIEERT
7115,

FIERR -

BN, EDHIFXExLyDEHIZEFRTILDET 5.
(OnEOHIFHXETARIHXELAFRKIZH1T, ThEhT
R7EED. TNENDRTIHLCHIGT HEHENRRE
RHB. ZD LG RADOBERIEFEN2THS.

(2 LEE DK miT=H DXEEAR D F R fEX,ERDD.

QEMx=xX EFAHPIRICHIST BT ARERELAHHIKI
HIETELEARERENDKRE, RREGZADFHHXERDDT
EITRY, TNHDRRISHEITHERITAIRESBBDIEEERDHS.
(4) LR TROMABEIC LY RERBA B Rx=x, D EB BRI
HAIMEHEL, TORMAKR[ZELDFIFIHXDRTIZDONT
—AOFHXERNRAFHHXELTHIBRT 5. CoEEHIBREh
BRI, PadEbn/iEHS.
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Theorem: A 2-dimensional linear program can be solved in
time linear in the number of constraints.

Proof:

For simplicity, we assume that every constraint is associated with both x and y.
(1) Divide the n constraints into lower and upper constraints and decompose
them into pairs in each group. For each pair, compute the intersection of

their associated lines. There are about n/2 such intersections in total.

(2)Find the median of those x-coordinates X,,.

(3)At the line x=x,,, we compute slopes of the boundary of the feasible region
by finding the lower constraint giving the intersection with the lower boundary
for lower constraints and the one for the upper boundary for upper constraints.
(4) Using the slopes obtained above, we check which side of the line x=x,
contains an optimal solution, and then we remove as redundant constraints one
of paired constraints having their corresponding intersection in the other side.
Then, there are at least n/4 constraints to be removed.

40142

Lo T, nfEDHB KX TERSND2ERRH T EIMEE
= DEMET)ET BHE,
OFHRXDRT (3T K RAILOM) B TAHETES.
(2)BO(N) B (RETLHRMBEEB THRIEZROHZEATEE).
PEREDORFABLTRTOHHKXEDORRERFANIE NS
o(nEEI T4
@ RIEDCEEF AL THPXZHIERT DIEELOM)EFR.
CHIZEYHIRRIEE 2 @MA)NEIZES.
L1z T, O(n)DEREEE L AT K cIZLYentRE (&,

T(n) =T((3/4)n) +cn
EWSHIEREBD. ChERITFIE Th) = 0(nZEHS.

EERME T ORFHXOyEF RSB, ThiolE
TNENEDESITHOIRNEN?
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Therefore, if we denote by T(n) the time to solve a 2-dimensional

linear program, then we have

(1)intersections for those pairs can be computed in O(n) time in total,

(2) is done in O(n) time (median can be found in linear time in the
worst case).

(3)O(n) time suffices to compute intersections with all constraints
to compute the intersection with the boundary.

(4)The operations to remove redundant constraints using the location
of the median are done in O(n) time. Then, the number of
constraints is reduced to at most (3/4)n.

Hence, if we represent O(n) time by cn for some constant c, then
we have

T(n) =T((3/4)n) +cn,
from which we obtain T(n) = O(n).

Exercise : How should we treat those constraints associated only
with x or y?
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